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from matplotlib import pyplot as plt

ds s+tt*(-be*s*1)

di = i+tt*(be*s*1-gn*1)
dr = r+tt*(gn*1)
lists.append(ds)
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listi.append(di)
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listr.append(dr)
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s = ds
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1 =di
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LA

=0
lists=[s]
listi=[1]

r=dr

.plot(listt,lists )
.plot(listt,listi )
listr=[r] .plot(listt,listr )
listt=[0] .title('SIRmodel")

tt=0.84 #|H18 31 .xlabel('Elapse time")
.ylabel('Population rate')
. show()
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from matplotlib import pyplot as plt
-999
801

lists=[s]
listi=[1i]
listt=[0]
tt=0.1

for £t in range(508) :

listt.append{t)

ds = s+tt*({-be*s*i+gn®*i)

di = i+tt*({(be*s*i-gn¥*1i)

lists _append({ds)

listi.append{di)

s = ds

i = di
plt.pleot(listt,lists )
plt.plot(listt,listi )
plt.title{ " SISmodel ")
plt.xlabel{'Elapse time")
plt.ylabel( 'Population rate")
plt-show{}l
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sers > yoshiki > python_lesson > % SIS-EQ.py

import matplotlib.pyplot as plt
import math

import numpy as np

be= 3.0

gn= 0.6 X ].22 &: (Ei,E“J k: N (EB)EEE;2§i)q§

To= 98.01

c= (1/(be-gn))*(np.log(abs(Io))-np.log(abs(Io-(be-gn)/be))) (,\T: SISt T )I/Z‘Fﬁﬂ%@ﬁﬁﬁfg
i = np.linspace( ©.01, 1-gn/be, 100@)

t =(1/(be-gn))*(np.log(abs(i))-np.log(abs{i-(be-gn)/be)))-c 25& L/ Tf 6%} %5 o

plt.plot(t,1-1)

plt_plot(t,i)

plt.title('SISmodel-differential equation')

plt.xlabel( 'Elapse time"')

plt.ylabel('Population rate")

plt.show()

import numpy as np
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